Mathematics

Paper 3: reasoning
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( Instructions )

MR

You must not use a calculator to answer any questions in this test.

Questions and answers

You have 40 minutes to complete this test.
Follow the instructions for each question.
Work as quickly and as carefully as you can.

If you need to do working out, you can use the space around the question.
Do not write over any barcodes.

Some questions have a method box like this:

Show
your
method

For these questions, you may get a mark for showing your method.

If you cannot do a question, go on to the next one.
You can come back to it later, if you have time.

If you finish before the end, go back and check your work.

Marks

The number under each line at the side of the page tells you the number of marks
available for each gquestion.

TRUDOTOR e —
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n The original price of this car is £8,999

Sale
£1,100 off

What is the sale price of the~fcar? '

a9
- E | O(_?} * /7899

1.3 99

1 mark

NI
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3 576,219

Wthh digit ik's"inn fch‘e‘teﬁi’ihousandfs :place? . . ; .

T H T O

5762149

_ Round 8,576,219 to the nearest mil;‘libh“. .

3576219

ooooooo
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e Dev says,

| had £10

| gave some money away.

_ Which expression shows how Vr‘nu’ch‘ money DéV‘has, left?. -

a is the amount of money, in pounds, that Dev gave away.

Tick one.
EM)W 2 10+ a
10 + a
a-10
10-a V//
ax10 T—

JRA A

— ruesoze NI
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n . Write these masses in order, starting with the lightest.

125kg  0.99kg  1.025kg  0.009kg

0.009¢ | |0-9qks [[1.025ks || | 2D ke

lightest L
@B vt the missing digits to make this addition corect. |
21K |+ 7] 2]|=200 _
1 2%
¥ 12
2 00
IUNMRHATRII etz

00000000000
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n John buys one toy car and one pack of stickers.

He pays with a £10 note.

* How much change does John ge't»?: ‘

09 |49
S Vele o |l b9
- 2.113 il bl
o b -8 ] 3113
method

__ e 6.8

,,,,,,,,,,,,,,, ' 2 marks

JNIVRRIAND
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This picture shows the masses of eight kittens.

3059 3759

2759 410¢g

, What is the dxfference |n mass between the heavnest kstten and

the hghtest kltten’?

31049

3604

255

345¢g

i 0]
~_255 155 g
—_{“—E—Em 1 mark
The masses of the kittens are to be put in four groups.
_ Write the missing numbers in the table.
One has been done for you.
ey | humberor
a0 kittens
250-299 1
300-349 25
350-399 ' =~ ES
2 1 mark
400-449 1
AR oozt
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° Ken is playing a game. He has 4,289 points.

Then he scores another 355 points.

Ken’s target is 6,000 points.

How many more points does Ken need to reaéh_‘his target? -

5919
o 121319 5080
4| 3565 L4644
Your L6l | 1356
method v
\ | 356 _

o ~ This pictogram shows the number of satellites above the Earth in 2016.

2016 ; - 250
\ooo | 1000 =1,000 .-
Year @ satellites Lf' I | m

Number of satellites

How many satel‘lifces:wsré abq\:f‘e:th‘é kEyart‘hk‘in?Oj:G‘? .

| 000 + 1000 + 450 2250

1 mark

ooz IINIANMANAERINN
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On the grid there are three points joined by two lines.

-3
-4
-5
-6
Py

Lara piots another point on the grid at (-1, 2).

She joins the points to make a quadrilateral.
Complete Lara’s quadrilateral onthegrid.
Use aruler. , -

1 mark
Then Lara translates the quadrilateral 4 squares to the right.
Draw the quad_rilater;:a‘l'in its new position on ‘th‘e‘grid‘. | —
L
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m Here are five numbers.
/ 3 4 5 6
P P @
. Write each number on the correct cards.

The number 2 has been written on the correct cards for you.

Prime Factors of Factors of
numbers 12 : 15

2 3 5 2 4 3 L 3 b5

\. J \. J/ \. J 2 marks
Q ¥ b | ¥ 15
QY CRE
| X 12
m Amina’s bed is 190cm in length and 91cm in width.
She is making a one-tenth scale model of the bed.
What are the length and width of Amina’s ymode‘l’?', .
! qo - ;Q = E@ Iength: Iq cm

- 10 = a1 widith om

1l
O

1 mark

cuerzoas ININIHIENNINNN
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Kirsty says,

When you double the size of an acute angle,
you always get an obtuse angle.

| EXplain‘why Kirsty is not corre_c’t. .

An acute angle. is an anﬁi@
less than qo*
A 10° angéa Soobleol ~oulol be

00°, 50 1E 1Sekll an acute
M@t—é, and ot obtuse

1 mark

T
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m ~ How many days are there in September, October and _NOvem‘b'e'r‘

altogether?

80 +?DK "%”30 q% days

1 mark

The International Space Station orbits the Earth at a height of 250 miles.
What is the height of the International Space Station in kilometres?

Use 8 kilometres equals 5 miles.

_Ho 50
63250 * 8 L.’-OO km

v ’@Q | , | 1 mark

ez INIAVAIREAIN
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potatoes carrots
£1.50 per kg £1.80 per kg

Jack buys 1-;— kg of potatoes and 1 kg of carrots.

2
T I
, O« | |
— Lot 50| = |« 510
2) 0 9.0
v | i lof BLL - 8O 2|1 2130
method L
N RO RCIr M MY i e
2|2 50 31 5 |
§ 'O
_ .15
| + 35
L
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m Tick the fractions less than

X + 2y =20

X and y are whole numbers less than 10

Whatcould x and p be?

24 12 ="20 N

|- A =

1 % &
2 v/ &
2

8

3 £

4 8

7 &)
16 V| 3
24 3 .
32 i
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1 mark

2 marks
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Layla makes jewellery to sell at a school fair.

Each bracelet has 53 beads.

She makes 68 bracelets.

Each necklace has 105 beads.

She makes 34 necklaces.

How many ~beads‘~dko‘és' :Layla‘u'sé altogether? -

523 [ 05 3140
¥ 60 v, Sk 2570
2k ko ) a7k
—1 2180 B0 :
o 410 1L 2510
method
|
] | 7 [_’L beads
1T —
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9 Adam is making booklets.

<&/

Each booklet must have 34 sheets of paper.

He has 2 packets of paper.

There are 500 sheets of paper in each packet.

. How myany Corﬁpliéteyybddklets ‘c‘é‘n ;Adam ‘make fr‘dmjyzkfpackets - .
of paper? ' ~ -

, JLIAOIA

] 2N600=1 000 6181236

| 0212 7.0

o 29 i '# 113163014

method |21 &V 0100 | LHI8IA LD
| ééi O qu booklets —

- 306
| 4.

DA
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m ABDE is a rectangle on coordinate axes.

The sides of the rectangle are parallel to the axes.

YA
) A B
<0 (25, 30)
- Not to
22 (40, 22) scale
Ly
Eg e 5 P
: e —
0 05 uo 55

Point C is the centre of the rectangle.

_ What are the coordinates of B and D?

Bis | (55 , 30) __
pis | (55 , 14 ) —
WONOIEIOI — eooee —
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e Six identical right-angled triangles are arranged to make a rectangle.

Not actual
7cm .
size
\
< ?cm >
Calculate the length of the rectangle. .
74 = 35 1O -5 om
1 mark

T+ 3 5 =105

—ewenooas INNUNIRRIRANINONOD
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lD-U
+O
[ e o]

800m

A
\

Not to scale

The distance from point P to point R is 800 metres.

The distance from point P to point Q is 4 times the distance from
point Q to point R.

Olivia says,

It is 600 metres from
point P to point Q.

: EX‘pliaikn why Olivia is' 'n,ot correct.

Q——>Q = }éOcm,SO

- 1460 “The disrance.
N o P to Q

b L0 1S 640 M-

1 mark

I
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